H & 0l & AHS B Ml A

33 T HEA 2l
ol A &2 (SH &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
NIE 1,464,424 1,374,780 89,644
= 140,000
Al 1,324,424
KAl THE 2+ 1,342,428 1,252,784 89,644
= 140,000
Al 1,202,428
A== =22 1,342,428 1,252,784 89,644
= 140,000
Al 1,202,428
SEUAN 2 457,660 564,031 106,371
101 @124H| 4,726 39,5633 2,193
M ORINZZE2NSE S 41,726 39,533 2,193
OEXN, A==LHZAL AFF2US 33,167
-oI=Y 76,9603 x3*110& 25,397
—ZHAH| 2,0003 %38 110! 660
—HEASEMSE 116,100 x3&+5E 1,742
=58 76,9602 x3&»202 4,618
pani=ts] 50,0002 x3E+5E 750
OEX.H=2 LHEA AIFIR BHS 3,647
-=p3 =3 32,507,000 4. 5% 1,463
-2ALLE= FE=2
32,507,000 *3.545% 1,153
-UEEEE RS 32,507,000& *1.75% 569
-“M2EE f83
32,507,000 *0.982% 320
- AIRLEERRYS
1,153,000& %12.27% 142
OXIYASH ADMHE ADE20 4,424
-oI=Y 76,9603 x2& »22& 3,387
—2+AH 2,0003 28«22« 88
—HEASEMSE 116,100 2+ 1& 233
=58 76,9607 x2H x4 616
pani=ts] 50,0002 x2H*12 100
OXZASA ADdH ADER0| E82 488
-=p3 23 4,336,000 *4. 5% 196
-HAEEE RE= 4,336,000 +3.545% 154
-UEEEE BY= 4,336,000& *1.75% 76
~MEEE R83 4,336,000& 0. 982% 43
- RYTEHERES
154,000& %12.27% 19
201 Ler23 | 244,491 248,121 23,630
01 At22t2lt] 89,388 88,388 1,000
Odgt=3ZH| 87,568




SA K™D
33 T HEA 2l
SRl A =2 (S &S
SA - ZE . BR() - HRAR - BES of v G o HIDE2
-OCR2IOIMZ&IEH StERIX FL(DXM &
#E8) 237,000 +8H+33] 5,688
OCRIAIN =28 HEZEH 228 F&(
EH & 95 1,800,000 «12& 21,600
~HAKIZHAR 1T0 HYTY
270,000 * 107K 2,700
-NEA AN 2EE S5 HH
50& 135,000 6,750
-N2A 20 Jatxiel EX 7Y 31,470
SSHUSM(SSE) 2AA
49,9503 502} A 2,498
- NEASH AHEHHE - LS AL
=R 49,950 302 A 1,49
MI2Ia=& &M
49,9503 x40} A~ 1,998
I EALIXIA
49,9503 #2202} A 10,989
NEGE DX (FSHE)
49,950 x502f A 2,498
LUELSE SFILNAM
49,9501 x1002 A 4,99
SEIXNA 7 49,9503 » 1402} A 6,993
-NEA G2 E22E HOIZ M
100,000& *22] 200
-HGIN Rt ScHItE M
50,0003 %1004 A 500
-NSXHAl ERetU SeHHE M
50,0003 *107H 2-*22] 1,000
-THAEAl 20t ZchIEHIA
50,000& *107H 2-+22] 1,000
-MARM R0t E2HUE ME
2002 +5,0000H*23] 2,000
-=0IAl R0t SHIE M
50,0003 *107H 2 500
-NEASH AOGFH SHIt= M
50,0002 x107H A +43] 2,000
“NSASH AIER 22 2R S HE
4003 %12, 500% 5,000
-FHEM(RESA) 4D L AZ2e| HHE
NS 200 %10,0000HK 2,000
~HOQI, CHRI Xi2t FISH 201 & ZEo
U cIE M 4002 *5,0000H 2,000
-NSASH ARUIQ 2453 AR5 S
2 500,000 * 12 500
-NSASH ALIHE 2,660
SEASE ANdH ZXI|
2,000,000& 12 2,000
- SEYASE HIME 23|
5,0003 6% 22 660
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M T THE 22l
&Rl A==ME &8 (EEEE))
SA - BB -GS - MRAY - BES Ofl by G o MimE=EY
o294 1,820
-KIE N AR RS EA4E
70,0002 x6H *x23| 840
OIRAARIRE BASD
70,000& x7H x23] 980
02 B22ZH| 155,103 159,733 N4,630
O3222 % MA 139,000
XA DXANESE SISRHE
2,530&%15,0004 37,950
-XNEMOAXA(ZIIR) & HEHHS g
UEIRTZ 430& *200,0004 86,000
-XIZYASM AFECHHE & 2EIUSA DY
SN 25 YUeHz
4302 35,0004 15,050
OAIEEHIKRAIH] 2,975
XAl DSZ2IE(SED]) A2 4]
59,500,000 *5% 2,975
OXIMM(HREDX, 1 2| HE) HAAIA
8 X2 349,000 128 4,188
ONYSE LBLL(MS)AAY RXB4
745,000+ 12& 8,940
202 04| 30,300 30,300
01 2| 30,300 30,300
OXNLMESER =& b
150,000 15 *83| 18,000
OFSH HHXE ZAF =& 04|
150,000& *3H x4 3] 1,800
OXNZAM NsYE 285 &g 2 2y JH4A
150, 00021 *424+73] 4,200
OE=NSMNEEAAE AI2A U &AM
150, 000& x2H *x53] 1,500
O =2 X8A AR 2HES A
150,000& 20 * 13| 3,000
OXUASH SAAIDEE H2FX Y|
150,000& x3H *4 3] 1,800
204 AR LA 57,600 51,840 5,760
03 SEE R 57,600 51,840 5,760
ONREYSRA 100,000 48 x 128 57,600
301 LEIEXNZ= 640 640
14 J|EIE A= 640 640
OXNZA SAYMX OISH HME
700&+200¥ 140
OXNAN SAY MR 2FAHH I
100,000 *5H 500
303 ZAZ 7,000 7,000
01 Za=2 7,000 7,000




SA MBI
33 T HEA 2l
ol A &2 (SH &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
O2=, 2UN” 22 Z43
40,000,000& x22| +5% 4,000
OEN, A== LHZA Zo=
60,000,000 12| *5% 3,000
306 EH= 15,803 16,409 A606
01 &= 15,803 16,409 A606
OXgNHARH EAZ
131,685,477,000& %0.012% 15,803
308 AHXIEMSOIH 60,100 60,100
11 SIS0t oA AS A 60,100 60,100
OXMITH KIZMEEAAE S22
54,939,000 * 14 54,939
OHE NEHMEEANLE SN2 5,161
-NLMEEAA 2
2,897,000 *14] 2,897
—SEXNLMEEAAE 2 (wetax)
2,150,000 14! 2,180
“UNISEAIAE 2 14,0002 %14 114
Az S 38,814 40,678 1,864
201 2= 38,814 40,678 1,864
01 At22t2l] 38,814 40,678 A1,864
Oget=ZH| 33,814
-N2A DA @R =28
100&*170,00024 17,000
XA XX ABE(H)
4,510,000& 12 4,510
-NIYSE 2EYR(ARS) MSAER
356 *18,0004 6,408
-KZA AXDR 2 =2
2203 +10,00024 2,200
-NIYSE LBYR(ARS) 2AHSW)AIZZ
16.5%%24,00024 3%
MY S8 ZEYR(ARS) MEJHE =2
= 220%%15,0004 3,300
OXNZAM d8Uel2NE &2 cIEH S M
= 200& 20,0000 4,000
Oo=2g=¢g 1,000
-NgA dFUelel =&
100,000& * 102 1,000
Me2el 3N 315,227 311,077 4,150
201 er2 3| 239,217 235,127 4,150
01 At2teltl 35,147 36,147 0
2et-ZH| 35,147
XA Mg SR SHIt=(4A) M
50,0003 207 2-#22] 2,000




2 ™D
2 M W 2
H

=@t =M &2 (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
FIE G2 e Pl
46,6403 <122 Ax 12 6,717
-N2A MR =8 =8 13,650
RSN F(B) BE Y 242
2,000 6021 %23 x 12 2,880
I3 448
1,2002 #5024+ 12 720
HERY L RS BHALE
470,0002 * 1524 7,050
HALF & ol ===
3,000& *1,0004 3,000
-Mgitg HSEEI S 2 A
20,0008 »24 2= 480
KA MY SSMHE 23] S8 =8
2,000831%35021 %23 1,400
-HEXE XS dESEFYH
10,0002 +90CH 900
-AARE AIZBEE ZSAAE 2
10,000,000 » 14 10,000
02 S3=4gl 204,130 199,980 4,150
0= € MA 188,750
NN MEDRAM HRHUHE &S et
FE= 4302 *250,000A 107,500
A MR SEZ 2 SIISHE
2,500& 30,0002 75,000
-N2A MEA ok & HA2F OIS
AN g5 SIIREE 2,500& 2,500 6,250
OAIE2EbBI= X 15,380
-HMEEE2SSAIAE & OI0IXIAM AIAE
"= 660,000& * 122 7,920
-Mgitg Ha ALY =29
330,000 * 12 3,960
“HEE HSE SXAAY ATE O
2dl0l= 3,500,000 *1CH 3,500
202 04| 39,600 39,600
01 =LHO LI 39,600 39,600
OXIZAl HAMXZ ZAF L MW H=0H]
20,0003 %12 *102] « 12& 28,800
OXNZA 22= Mg d+Sd & MEXR
= Egs 150,0002 6 122 10,800
301 Eet2 NS 1,350 1,350
14 0Bt 2as 1,350 1,350
O30 & IXX 2E 24 1,350
-SHAE JHAL & 2&|
270,0002 x10CH*50% 1,350
303 Z&f 35,000 35,000

as
01 Z&ts 35,000 35,000




2A:

33 T HEA 2l
ol A &2 (SH &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OMNSIHAl Mgxte esd g SF3 X
o= 5,0002+3,000CH 15,000
Oud T XA Mg d+=Las
2,000,000,000& 1% 20,000
Hel+g &S 68,715 56,276 12,439
201 2= 12,912 12,912 0
01 At22t2lt] 12,912 12,912 0
Oget=ZHI 12,912
=Pl eral] 220,000 x24CH*40% 2,112
157 425 F¢Y 450,000 x24CH 10,800
303 Zal= 9,000 9,000
01 2= 9,000 9,000
OWHE A2+ = Zas
500,000,000 *20%+*5% 5,000
OBt Al - &= MR tHet NEA 2=
& xZa=s 40,000, 000& *10% 4,000
308 AHXIEMSOIE 40,203 27,764 12,439
1 SIS0t EAS A 40,203 27,764 12,439
OHN2+=LEBAIAR S
40,203,000 * 14 40,203
405 AtatE = 6,600 6,600
01 Tt =S F=HI 6,600 6,600
=280 WA 7Y
2,200,000 «3CH 6.600
IHESFERDFHA T AL 295,008 280,722 14,286
= 140,000
Al 185,008
101 @124H| 114,262 111,201 3,061
= 56,471
Al 57,791
04 JIZtN2Z2 XS+ 114,262 111,201 3,061
OINEFEIIATAL AR 102,941
-eI2Y 76,9603 x4 H 250 76,960
= 37,138
Al 39,822
-2tAH| 2,000 x4 »250 2,000
= 965
Al 1,035
—MEASENSY
116, 1002 x4 » 122 5,573
= 3.641
Al 1,932
=s5=g 76,9602 x4 x522 16,008
= 7,862




2A:
PSR
ool

SA - ZE . BR() - HRAR - BES of v G o HIDE2
Al 8,146
—uSH| 50,0003 x4 * 128 2,400
= 1,224
Al 1,176
ONEFEDIIA ZAF 018 288 11,321
-=033 FE= 100,941,0002 *4. 5% 4,543
= 2,306
Al 2,237
2228z BE=
100,941,000 +3.545% 3,579
= 1,768
Al 1,811
-D8PEE 2Y3
100,941,000& %1.75% 1,767
= 873
Al 8%4
M2 E RS
100,941,000 +0.982% 992
2 476
Al 516
Lo RYREE PU3
3,579,000& %12.27% 440
= 218
Al 222
201 et 3| 176,426 165,201 11,225
= 81,413
Al 95,013
01 AtR2t2lt] 175,213 163,973 11,240
OMNEFEDIATAL AHR 22| 175,213
N ESOIH SO A
200,000 * 110K 2 2,200
SREFEEII A YB44E
6,700& 22,481 150,623
= 81,413
Al 69,210
ONEZEN AREE BE4AR
7,6202%100= 762
R EEOLR 0|olA I ASALE
25,4102 x225 5 *50f% 2,859
01BN BEFHII FAME +48
70,0003 *287H 1,960
SHEFSIIATAL L B2 BeHIIERIT
50,0002 x237H A +33] 3,450
HEFSIIHZN L SHTAE hold]
- 4,000 1504 600




SA MBD
33 T HEA 2l
SRl A =2 (SH &)
2 - IE
SA - B - SA(SH) - MRA - BAS ol &t e HIDS
NEFEIIAIA BAS UK 2Y
29,7003 202 A 54
g0 g2= 22t
110& %29, 5000H 3,245
NEFEDIATALE SAISX 2
20,0003 5 Ax 122 1,200
HEFEORIZA FUHE &8 2
250,000 x4 1,000
-ZetdlOIZ e JtEeIX 78
960,000% *1CH*32] 2,880
SHEFEE EAET DAY
8,0002+38+202|+6E 3,840
2 52484l 1,213 1,228 A15
O=s2= & HMAl 1,213
HEFE0HE S AME £ Ol aFE 20
SAE g5 sz
2,500 #4851 1,213
202 048l 4,320 4,320 0
= 2,116
Al 2,204
01 SLHo4H 4,320 4,320 0
OMEFEIA AP 0
20,0002 «3 62 * 122 4,320
= 2,116
Al 2,204
VEAEIIFSNE 243t 167,004 167,004
201 Zet=3hl 154,250 154,250
01 AtR2t2|HI 149,250 149,250
Odgt==H| 145,250
-DSADIIRM EdE 2L
100,000,000 *14] 100,000
—SARIIFA CIES M
1,000&*1,000% 1,000
“DSAFE D2 M QL AR MIE
1,500&*1,0002 1,500
-LISHAFEDIS2 A 2t SetE A
110,000 *25H 2,750
“IEAIIRH E294 A
20,000,000& » 14 20,000
LISAFRD IS A 22t Bl &0
10,000,000 * 14! 10,000
-DEAIIRH 8222 7Y
10,000,000 * 14} 10,000
o2Yyrg 4,000
-HASHERAE 32 FAG
100,000 x4 & =42 1,600




SA K™D
33 T HEA 2l
ol A &2 (SH &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
SI328405IHs] slo] BA+Y
100,000 6 *43] 2,400
02 S3=gHl 5,000 0 5,000
Os&k= € MA 5,000
223 g3 S 2H 23
2,500&+2,000S 5,000
202 04l 4,410 4,410
01 2LHoIH 4,410 4,410
ODEAZDIH 2227
20,0003 x3H+33|x 123 2,160
OLEAMEIIZH S & EE S FH
150,000 3 +53] 2,250
308 AXIHMSO0IA 8,344 8,344
11 S 2S0 e 4 EAS A 8,344 8,344
OLSAEII2H SEHEAAE FX2c
af 8,344,000 * 14 8,344
HH2AZHI(MEY) 121,99 121,99 0
(224 (MZE D) 121,996 121,99 0
JlE2ZHI(NEW) 121,996 121,99 0
201 et 3| 56,704 56,704 0
01 AtR2tc|bI 56,704 56,704 0
Oget=ZH] 32,224
-JEMFESHI 100,000 48 4,800
“SAD| FA2c] 400,000 *2CH 52 4,000
“SAEA 7L 23,0002 x248r A% 123 6,624
-HElH 2 BA ST2(EHTY S)
237,000 x 1501 *43] 14,220
-QEe Mg d2a)| dE
25,000 »2CH =128 600
-ZetsAD| SUHE 165,000& * 12 1,980
@=] 24,480
NS =& DA
8,000 x35E +53|* 122 16,800
-HEXE Ot S E FX S20HA]
8,0003 x40 +23|x 12 7,680
202 04dl 60,000 60,000
01 2L AL 60,000 60,000
OXZAH SRFE 2L 018]
20,0002 x25E*102|* 12 60,000
203 gF=4| 5,292 5,292
M EASHLRFAH 5,292 5,29
OME 490,000 122 *90% 5,292




